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OcHOBHbI® TPUrOHOMETPpUYEeckue dopMYIb

sin®a +cos’a =1
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1+tga_cosza 1+ctg’a = — >
SIN” &
SIn o COS
ga = CIgo = —
cCoS Sin o

tga-ctga =1



YNpocTuTe BblpaXXeHue:

1 3agaHue ,

. . sin o .9
SINCO - COSA - Ig0 = SN -TOSAL - =SIm- o

COS6L-

2 3adaHune

. COS O ) .
S-e COSA - — —l=cos"a—1=—sm" «o
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3 3agaHune

. . 2 2
sin” o —tga -ctgo =sIn” o —1=—cos” &



YNpocTuTe Bblipa)KeHue:

4 3apgaHue
2
l—cos o =

5 3agaHue

cos” o +(1—sin2 (x)
6 3agaHune
(1-sine )(1+sina)

/ 3agaHue

(cosoc —1)(1 + cosa) —



Y4yebHble 3agaHund:

3HaTb Han3yCTb 6 TOXOECTB
Ha 2 chaunge.

YNpOCTUTb BblpaXkeHUS

Ctp 39 Ne22.2 (Becb)

Ne22.4 (He4yeTHbIE)



